





71583)

s |l _
l\_ 715832 |
|
24 |
T !
1 11 |
—_— I Cat co !
T2 774118 I Iuoox 22uF }
|
FUSE F1 6 ' | |
— |
— | 3] o 3 !
16AF !
: 77 3028 | !
‘ L5 | |
c25 | I
é R . 1000uF <I :
| | |
R24 | |
. ‘ \
| ‘ |
s D6 H l 082E 4w .32 | 4 c;as . :
PY206 €26 | 1 \
T Sowr | T 320uF 1 - ‘
' l |
22K 4w w“ | |
IC1 TDAL00 | ------ © | . Gs |« 2 " 0 ) l
77 3028 ! r T T T :
1 H 12222324 | i
l c29 ! sise Output Internal {
[ UNDERVOLTAGE DISABLING 9 I 1000UF ! OSCILLATOR width | stage supply ‘
|
|
i
START l \ ! Y T |
CIRCUIT : | |
P>" e | g | 1C2 TDA 2581 : !
circuits L3 ) - \
— i I l " : toop it | [ St || cowteg | Pt | | ey ! 4
logic c27 c28 ! protection circuit circuit diode protection | R [S]
1000uF 1000F | | ]

VOLTAGE RS § | + |

REGULATION 2 | !
: Pulse | —
- ! :
Start - i : ; ; I
TEMR l Stop | Over current | | Over voltage] Error !
COMP. ’_(>_, . | protection protection amplifier :
R4 |

"' l i T T ;) i
[ : | - = L 2 |

REFERENCE i - - > -

VOLTAGE | :
UNDERVOLT. | ! !
DISABLING BASE

CURRENT - -+ rar[8] cesl |
Zero Collector Disable AMPLIFIER H 2uf 4 4 1
passage current when |
iden. balancing ——— | valtage |
| discharge < ' / Fmmmmm s (a
I
I
T | |
4 5 6 I
D8 i
ce IN4007 |
|0KT |
- R61 |
RE |
|__lEBK |
|
|
p |
R? P1 R62 |
K 10K |
4:!—!_—1__',_-7 BAT43 i
I
CONNECTORo FRAME 761386 CONNECTORGFRAME 761386 R — |
760 R ] ’
— 1 1_1_— CNY17-3 |
1
)| I D B e P R (TN [ A A O A A s - !
3le o e o |
B 13| v o |
6o o 6l e e )\ :
e o 7 716251 !
8| o . 8 m ‘17v—-’ r __________________________________________ -
9l e . 9l e L e e e e 4
0]e 10 ,
n|e . " EI HTHD
2] e . 2| e o l
Ble e 13 26,27 Rk
uoe e % I:I 28 » 5 _7on)
BIT1| Power npuTe— 2 ° 2F ek}
5 % — 0.25W 050W 1W 15w a2 ;
7 e ol 1| 2300 80651 RIS o R“
1Bl e o 18 e o A B 100K
1 19 773028
zz : : 20| I: -L o Q 3E3 MW 10.1
e o e o o m
2le o 2 Sur
3o o 23 AN —» 715831 = PC76 1177
%l e o % 715832 = PC 7611755
Ble o ' Ble e 716251 = PC 7611775
n o 716254 = PC 76 1177P R n 2)) 29
S| Power mput @— 20 T [ HTHV—— 715838 = PC761175U
28( e o 28[ e o 68
2o o 2| e—o | wWg2@4—— R18 s
;0 . . ;? . . ‘B LKT II ‘NLD[)°97 . 15K
1
% 1| power mput «— 2| 71| cRT 63V — etk m .
- 22uF | 3| Ra
4—— To board
——— From board c51 R48
ii- o .
68K
PRODUCT SAFETY NOTICE css
@ "w
- A
COMPONENTS MARKED WITH A or K nave i 00K
SPECIAL CHARACTERISTICS IMPORTANT TO .
SAFETY. BEFORE REPLACING ANY OF THESE ! |
COMPONENTS, READ CAREFULLY THE SERVICE ! PO R = o
SAFETY PRECAUTIONS. 715832 | 3K3 BAT43
€50
DO NOT DEGRACZ THE SAFETY OF THIS SET ! ToF
THROYGH IMPROPER SERVICING |
neen | | L
761177 SM POWER SUPPLY (TOPVIEW) J
Neme SWITCH MODE Article nr.
MODIFICATIONS RESERVED POWER SUPPLY 76 1177
9,10 8 7 2 Pl ) 6 3 “ 5 n &} 27 2% 20 w25 12 60 63 61,62 14,198 66 B 65 5 66 67 69,70  394ONTCI564L 374145 56 46 47 48,49,P2 50 Date Drawn Checked
- 9/01/86 | PG PGV #
8 7 6 12 3 5 9 66 I 19,2926272930 18326465 26 31 [y 0 % 6 w 63 L14243454B51955640 46 4 50 ——
T oordiaan,
05 01,02,03 D& D6 7,08 1 052, DISOI6D3 ped om0 © 71 25 D9 5 7 22 ] 22 D25 BRRGE" Electronic s rme.ssgum
66 177

11




PARTS LISTING - UNIT SMP SUP 76 1177
(D851022)
ITEM NO. SIT. DESCRIPTION ITEM NO. SIT. DESCRIPTION
11 2837 c..1 CAPACITOR CE DI 10K S 400 10 1266 R..1 RESISTOR CF 330K J 0,50
11 2837 C..2 CAPACITOR CE DI 10K S 400 10 3352 R..2 RESISTOR MO 22K J 4w
11 1655 c..3 CAPACITOR ELRA 400M T 385 10 1100 R..3 RESISTOR CF 1E° J OW25
11 4722 C..4 CAPACITOR CESA Y 2K2 M 400 10 1100 R..4 RESISTOR CF 1IE J OW25
11 1477 C..5 CAPACITOR ELPR 100M Z5 25 10 1160 R..5 RESISTOR CF 100K J OW25
11 4120 C..6 CAPACITOR POMEFF 10K K 250 10 1165 R..6 RESISTOR CF 270K J OW25
11 2234 c..7 CAPACITOR NPO MI 22P G5 63 10 1150 R..7 RESISTOR CF 15K J OW25
11 1477 c..8 CAPACITOR ELPR 100M 25 25 10 1148 R..8 RESISTOR CF 10K J Ow25
11 1546 C..9 CAPACITOR ELPRMI 1M M5 50 10 1128 R..9 RESISTOR CF 220E J OW25
11 39112 C.10 CAPACITOR PETPFP 8K2 J 250 10 1137 R.10 RESISTOR CF 1K2 J OW25
11 1477 c.11 CAPACITOR ELPR 100M 25 25 10 4268 R.11 RESISTOR WW V 33E K 7W
11 50051  C.12 CAPACITOR PP 2K2 J 1500 10 1217 R.12 RESISTOR CF 27E  J OWS0
11 1418 c.15 CAPACITOR ELSN 224 T 350 10 46781  R.13 RESISTOR HV 1I0M J W
11 1408 C.16 CAPACITOR ELSN 224 T 250 10 1132 R.14 RESISTOR CF 470E J OW25
11 1639 c.17 CAPACITOR ELRA 47M T 250 10 12888 R.15 RESISTOR CFF E82 J OW50
11 1639 c.18 CAPACITOR ELRA 47M T 250 10 4407 R.16 RESISTOR WW V  3E3 K 11W
11 1716 c.19 CAPACITOR CE 680P 1000 10 1144 R.17 RESISTOR CF 4K7 J OW25
11 1626 C.25 CAPACITOR ELRA 1000M T 40 10 1144 R.18 RESISTOR CF 4K7 J OW25
11 1478 C.26 CAPACITOR ELPR  220M Z5 25 10 1259 R.19 RESISTOR CF 82k J OW50
11 1626 C.27 CAPACITOR ELRA 1000M T 40 10 3658 R.20 RESISTOR WW H 680E K 4W
11 1626 C.28 CAPACITOR ELRA 1000M T 40 10 3611 R.24 RESISTOR WW H OE82 K 4W
11 1626 C.29 CAPACITOR ELRA 1000M T 40 10 12169 R.25 RESISTOR CFFUL 22E J OW50
11 1408 €.30 CAPACITOR ELSN 224 T 250 10 1112 R.30 RESISTOR CF 10E J OW25
11 1408 C.31 CAPACITOR ELSN 224 T 250 10 1164 R.38 RESISTOR CF 220K J OW25
11 1488 C.32 CAPACITOR ELPR 220M 25 40 10 1163 R. 44 RESISTOR CF 180K J OW25
11 50051  C.34 CAPACITOR PP 2K2 J 1500 10 1145 R.45 RESISTOR CF 5K6 J OW25
11 2774 C.48 CAPACITOR CE MI 100K U5 63 10 4668 R.46 RESISTOR HV 3M9 J OW50
11 17221 C.49 CAPACITOR PP DD 15K J 1500 10 1172 R.47 RESISTOR CF IM J OW25
11 1546 C.50 CAPACITOR ELPRMI 1M M5 50 10 1166 R.48 RESISTOR CF 330K J OW25
11 4130 C.51 CAPACITOR POMEFF 68K K 250 10 1150 R.49 RESISTOR CF 15K J OW25
11 3724 C.55 CAPACITOR POME 100K K5 63 10 1138 R.50 RESISTOR CF K5 J OW25
11 2827 C.56 CAPACITOR CE DI 1K5 S 400 10 1156 R.55 RESISTOR CF 47K J OW25
10 1126 R.56 RESISTOR CF 150E J OW25
13 19025 D..1 DIODE RECTIFIER BY255
13 19025  D..2 DIODE RECTIFIER BY255 77 4118 T..2 TRFSMPFIX DATA 2B43
13 19025  D..3 DIODE RECTIFIER BY255 77 4108 T..3 TRFSMPVAR DATA 3 S43
13 19025 D..4 DIODE RECTIFIER BY255 76 1177T T..4 UN.TRFSMPCUR DATA 3 S43
13 1646 D..5 DIODE RECTIFIER 1N4007
13 1911 D..6 DIODE RECTIFIER PY206 13 1742 Z..1 DIODE ZENER 0,5C 6V8
13 1911 D..7 DIODE RECTIFIER PY206 13 1716 Z... DIODE ZENER 0,5C 5Vl
13 1646 D..8 DIODE RECTIFIER 1N4007
13 1646 D..9 DIODE RECTIFIER 1N4007 31 3525 001. CONNECTOR EURO MOBSE P32X2
13 1913 D.10 DIODE RECTIFIER BY229-1000 36 7448 0011 RIVET AL AL AD36ABS D2,4
13 1928 D.11 DIODE RECTIFIER BY229-600R 31 5315 002. CONNECTOR RIVET MOBTE D 2L14
13 1921 D.12 DIODE RECTIFIER BY299 31 4501 003. FUSE 5 X20 CLIPS
13 1921 D.13 DIODE RECTIFIER BY299 31 3220 004, FASTENER RESISTOR WW H10
13 1921 D.15 DIODE RECTIFIER BY299 31 32651 0041 FASTENER RESISTOR WW H20
13 1928 D.16 DIODE RECTIFIER BY229-600R 80 0561 006. HEATSINK BU  SMP
13 1918 D.17 DIODE RECTIFIER BYW72 80 0324 0060 FIX HEATSINK SMP 43
13 1918 D.18 DIODE RECTIFIER BYW72 36 20236 0061 SCREW DIN84 M 3 X10 MP-
13 1921 D.19 DIODE RECTIFIER BY299 36 75256 0062 WASHER M 3 INOX
13 1921 D.20 DIODE RECTIFIER BY299 31 5332 0066 SOLDERLUGID &4.2L 22
13 1636 D.25 DIODE SCHOTTKY BAT43 SD101 80 0256 007. SPACER ISOL BU 43
13 3064 0071 TRANSISTOR MICA INSULAT SOT-93
31 4106 F..1 FUSE 5 X20 1A6 FAST 80 0354 0072 WASHER D3,25 D7,5MS
36 20256 0073 SCREW DIN84 M 3 Xl6 MP-
13 2747 IC.1 INTEGRATED CIRCUIT TDA4600 36 75256 0074 WASHER M 3 INOX
36 61026 0075 NUT M3 H D 934
77 3028 L..1 SPOCHOKE SMPOWER31 80 0656 008. HEATSINK SMP BYX DATA 2B
77 3028 L..2 SPOCHOKE SMPOWER31 13 3029 0083 TRANSISTOR SET INSULAT TO-220
77 3028 L..3 SPOCHOKE SMPOWER31 13 3019 0085 TRANSISTOR SET INSULAT TO-126
77 3028 L..4 SPOCHOKE SMPOWER31 36 20167 0086 SCREW DIN84 M 2,5X16 MP-
77 3028 L..5 SPOCHOKE SMPOWER31 36 61106 0087 NUT M 2,5H D 934
36 20147 0088 SCREW DIN84 M 2,5X10 MP-
10 5008 NTC1 RESISTOR NIC 100E K OW50 80 0563 009. HEATSINK SMP TDA4600 DATA 2B
36 20216 0091 SCREW DIN84 M3 X 6 MP-
10 6829 P..1 TRIMPOT CEMV 10K K OW50 36 75256 0092 WASHER M 3 INOX
10 6829 P..2 TRIMPOT CEMV 10K K OWS50 52 6001 0093 GROMMET CONTINIOUS SOLID 0,5
80 0604 010. HEATSINK TO 220AB
71 5831 PC.. PC SMP - 761175 13 3029 0100 TRANSISTOR SET INSULAT TO-220
36 20236 0101 SCREW DINS4 M 3 X10 MP-
13 25095 Q..1 TRANSISTOR BUS08A 36 75256 0102 WASHER M 3 INOX
13 2579 Q..2 TRANSISTOR DAR  BD651 36 61026 0103 NUT M3 H D 93

SIT.

0104
011.
012,
0121

DESCRIPTION

SCREW DIN84

M3 X6 MP-

CORE CHOKE 1/3,5X 3

WASHER M 3

INOX

SCREW DIN84 °*M 3 X 6 MP-

TRANSISTOR BUSH
TRANSISTOR MICA
TRANSISTOR BUSH
TRANSISTOR MICA
TRANSISTOR MICA
TRANSISTOR BUSH
TRANSISTOR BUSH

UN.SMP SUB DATA
UN.SMP POW DATA
UN.SMP SUB DATA

INSULAT TO-126
INSULAT TO-126
INSULAT TO-126
INSULAT TO-220
INSULAT TO0-220
INSULAT TO-220
INSULAT T0-220

2B 43
3 843
3 543

PARTS LISTING - UNIT SMP SUB 76 11758
(D851022)
ITEM NO. SIT. DESCRIPTION ITEM NO. SIT. DESCRIPTION
11 1510 C.40 CAPACITOR ELPRMI 22M M5 25 10 1153 R.37 RESISTOR CF 27K J OW25
11 2774 C.41 CAPACITOR CE MI 100K U5 63 10 1155 R.39 RESISTOR CF 39K J OW25
11 1500 C.42 CAPACITOR ELPRMI 47M M5 10 10 1167 R.40 RESISTOR CF 390K J OW25
11 2735 C.43 CAPACITOR CE MI 470P K5 63 10 1167 R.41 RESISTOR CF 390K J OW25
11 5926 C.bb CAPACITOR PP RA 2K7 J5 63
11 1548 C.45 CAPACITOR ELPRMI  2M2 M5 50 13 1742 Z..2 DIODE ZENER 0,5C 6V8
11 1546 C.46 CAPACITOR ELPRMI 1M M5 50
31 3366 001. CONNECTOR CIS MOBSE P 1 REEL
13 2776 1C.2 INTEGRATED CIRCUIT TDA2581 31 3247 002. CONNECTOR IC FOBTE P16 7,5
80 0678 003. CAN SMP SUB DATA 2B
71 5832 PC.. PC SMP - 7611758
PARTS LISTING - UNIT SMP POW 76 1177P
(D851022)
ITEM NO. SIT. DESCRIPTION ITEM NO. SIT. DESCRIPTION
11 4602 C.66 CAPACITOR POHVPO 47K M 1000 36 7600 002. FIXING BLOC UNIVERSEL M3
36 75256 0021 WASHER M 3 INOX
13 1913 D.52 DIODE RECTIFIER BY229-1000 36 20226 0022 SCREW DIN84 M 3 X 8 MP-
80 1144 003. HEATSINK BU 761177P
71 6254 PC.. PC SMP - 761177P 36 7455 0031 RIVET AL FE TAP/D/BS46 D3,2
80 1151 004. SPACER ISOL BUT HOR S43
13 25095 Q..3 TRANSISTOR BU508A 13 3064 0041 TRANSISTOR MICA INSULAT SOT-93
36 20246 0042 SCREW DIN84 M 3 X12 MP-
10 3356 R.71 RESISTOR MO 47K J LW 36 75256 0043 WASHER M 3 INOX
10 1220 R.72 RESISTOR CF 47E  J  OWS0 80 0354 0044 WASHER D3,25 D7,5MS
36 61026 0045 NUT M3 H D 934
13 3036 001. SPACER CERAMIC DIA 6/2,4 L6

12



PARTS LISTING - UNIT SMP SUB

76 11778

(D851022)
ITEM NO. SIT. DESCRIPTIGON ITEM NO. SIT. DESCRIPTION
11 37121 C.60 CAPACITOR POME 10K K5 100 10 1231 R.60 RESISTOR CF 390E J OW50
11 2829 C.61 CAPACITOR CE DI 2K2 § 400 10 1136 R.61 RESISTOR CF 1K J O0W25
11 37161 C.62 CAPACITOR POME 22k K5 100 10 1138 R.62 RESISTOR CF 1IKS5 J OW25
11 3890 C.63 CAPACITOR PETPFP 2M2 K 100 10 1151 R.63 RESISTOR CF 18K J OW25
11 1479 C.64 CAPACITOR ELPR 470M 25 25 10 1136 R.64 RESISTOR CF IK J O0W25
11 1479 C.65 CAPACITOR ELPR 470M Z5 25 10 1140 R.65 RESISTOR CF 2K2 J OW25
10 1132 R.66 RESISTOR CF 470E J OW25
13 1914 D.50 DIODE RECTIFIER BYV19-45 10 1132 R.67 RESISIOR CF 470E J 0W25
13 1921 D.51 DIODE RECTIFIER BY299 10 1132 R.68 RESISTOR CF 470E J O0OW25
10 4413 R.69 RESISTOR WW V 10E K 11W
13 169 I..3 OPTO COUPLER CNY17-3 10 4414 R.70 RESISTOR WW V 12E K 11W
71 6251 PC.. PC SMP - 7611778 77 4106 T..5 TRFSMPDRI DATA 3 S43
13 14131 Q..5 TRANSISTOR BC557B BC307B 31 3284 001. CONNECTOR CIS MOBSE P 1 REEL
13 1426 Q..6 TRANSISTOR BC337 13 3065 002. TRANSISTOR COOLER T0-220
13 1426 Q..7 TRANSISTOR BC337 36 20226 0021 SCREW DIN84 M3 X8 MP-
13 2570 Q..8 TRANSISTOR BDX77 BD709 36 75256 0022 WASHER M 3 INOX
36 61026 0023 NUT M3 H D 93
31 3220 003. FASTENER RESISTOR WW H10

PARTS LISTING - UNIT TRF SMP CUR 76 1177T
(D851127)

ITEM NO. SIT. DESCRIPTION

76 11750 UN.TRFSMPCURDATA 2B

77 4141 T. .4 TRFSMPCUR DATA 3 S43

31 3284 001. CONNECTOR CIS MOBSE P 1 REEL

72 1790 002. HOUSE 761175T

51 0347 003. IMPREGNATE SYLGARD 170AB

PARTS LISTING - UNIT IRF SMP CUR 76 11750
(D851127)

ITEM NO. SIT. DESCRIPTION

71 5838 PC.. PC TRFCUR - 761175T

10 1132 R.26 RESISTOR CF 470E J  OW25

10 1116 R.27 RESISTOR CF 22E  J  0OW25

31 3284 001. CONNECTOR CIS MOBSE P 1 REEL

13



AFREGELING P1 ADJ V OUT
P2 ADJ HT HD

Voorbereiding

- Plaats de "SM Power Supply" print op de verleng-
printen (nr. 792009).

- Plaats de schakelaar Fstd/Fadj op de bediening
in de stand Fstd.

- Plaats de schakelaar Normal/Z{ in de stand={= .

Instelling
a. Potentiometer P1 ADJ V OUT

- sluit de voltmeter aan op printkontakt 7.8
(+#17V).
- regel Pl voor +17V (DC).

b. Potentiometer P2 ADJ HT HD
- sluit de voltmeter aan op de kollektor van

transistor Q2.
- regel P2 voor +100V (DC).

REGLAGE P1 ADJ V OUT
P2 ADJ HT HD

ADJUSTIMENT P1 ADJ V OUT
P2 ADJ HT HD

Preparation

- put the SM Power Supply board on the extension
boards (n° 792009).

- slide the switch Fstd/Fadj on the control/switch
box in the Fstd positionm.

- slide the switch Normal/=H= in the position I=.

Adjustment

a. The potentiometer P1 ADJ V OUT

- conmnect the voltmeter to clamp [B] 7.8 (+17V)
of the board.
- adjust P1 for +17V (DC).

b. The potentiometer P2 ADJ HT HD
- connect the voltmeter to the collector of

transistor Q2,
- adjust P2 for +100V (DC).

Préparation

- mettre le module d'alimentation sur des platines
de rallonge (n° 792009).

- positiomner le sélecteur Fstd/Fadj sur le module .
de contrdle sur Fstd.

- positionner le sélecteur Normal/Z{= sur = .

Réglage
a. Le potentiométre P1 ADJ V OUT

- brancher le voltmétre & la cosse [B] 7.8
(+17V) du module.
- régler P1 pour +17V (DC).

b. Le potentiométre P2 ADJ HT HD

- brancher le voltmétre au collecteur du tran-
sistor Q2.
- régler P2 pour +100V (DC).

14



